5/0

ka mgmx@ <q’»xmwm&_@
e e e

| ka M@mx@ @xmmx_@q
: - ‘_ N T Gvin bl VO )

|

|| mx@dxm "Tﬂ :
: T @mx@@xm o} ) i
| BT @RCX@)@X@GXD ol

@mx@)@xm i

| ol @mx@x@xm ) k] i
| o @mx@@xm o ||
|| T @mx@x@xm ooy ||
H T mm@z@xmk !

@mx@)@xm MDY | |
| kel @mx@x@xm mijmag ||
i h’ﬁ" mx@@xm ][] i
|

i h“l"(“‘ MO I
i i 0L

|
XD @ &_@d o

=
ﬂ_ﬂ_ﬂ_ﬂ_.ﬂ_.ﬂ_ﬂ_.ﬂ_ﬂ_.ﬂ_ﬂ_.ﬂ_.ﬂ_ E_

e T @xmm T
oy btvlio SkoXee ol fakl
hmﬁmmmx@ @A Jlil]
LI M@mx@ ele ol fakil
T MMXQ @‘exmmx_@ﬂ
h““'?smmw @B
M@mxp oy o Iw fakil|
hmtm@@@ m@m :
| =

kﬁ“'

-A-

—————————————————————————————————

305

180

—

C@8,5x30 SLOT

" Bottom View

120

304

mwmmmwg@mmm
mrmm@b © OO 51
mwmmm@@mmm

—_ ]

mrzbmmw@mgcmmm
mrm@m‘mm @mmw
EWMM@;@@SMMM
mrmmm © g@mmm
mwmmwb@@mmm
mrm@m@mmmtm
wmm @Wmm
MWMM@?@@KXBMEE
mrmm@; © @mmm
mwm@@@m@mm di
mrm@(omb © OO I T
mrdpm‘mm @WMEE
mwmmm@mmmm
wmm@; ) mmmﬂzm
mwmm@@q@mmm
mrmmmb © @mm ]
mrmm@ © U T
mwmmm@meMM

]

mrm«m@ @) mmmm
meMmm@mmmm
mrmmmk © @mmm
mrm@m@ © @O@I T
mwm@m@@mmw
mrzbm‘mm © mmmm
meme @mmmmbiz:m
p@@m@@@ @@@Mlm

"Top View

DETAY N
1.3

OLCEK 2 :

S

UNITELERI SAN. VE TIC.

Tel: 490 212 7715112 - 77151 13
Fax: +90 212 771 51 10

www.gvn.com.tr

GUVEN SOGUTMA

e 'Y/ l

Add.: Hastane Mah. Hadimkoy Istanbul Cd.
34555, Arnavutkdy, Istanbul, TURKEY

SINCE 1985

REFRIGERATION COMPONENTS

0S.C.45b.28.1

GVN STANDARD PRODUCT Customer
COALESCENT OIL SEPARATORS Product
Code

Customer Code

DESIGN DATA

Pre-charge / Capacity [Lt.] 0,5/3,8
Design Pressure [PS] 45 Bar
Pneumatic Test Pressure [PT] 50 Bar
Hydraulic Test Pressure 65 Bar

Design Temperature [TS]

Min.-20C / Max.+130C

Cooler Fluid Type

HFC-CFC-HCFC

Fluid Group 2
Category CATI/A
Desing Calculation EN 14276-1/EN 13445-3
Welded Joint Efficiency 0.85
Material Group (Shell / Head) 1.2
Testing Group 3b
Corrasion Allowance 0,5 mm
. Ndt 10%
OLCEK 2:1.3 9 Packaging Size & Weight 00*00*00 & 00 Kg.
@ 102 Drawed By M.ABDULAZIZ
Approved By D.GUL
Date 09.12.2022
Color RAL 5009
MATERIAL DATA
No Connection Model Code Material | Qty
1 |Inlet Connection ODS 1 1/8"H:53 | 106.060.B07.000.007 | E275 ]
2 |Outlet Connection ODS 1 1/8"H:40 | 106.060.B07.000.002 | E275 ]
3 |Oil Return Connection SAE 3/8" 106.060.Y02.001.005| $235 ]
4 |Elbow 33,7x2,6 114.033.001.001.001 | $235JR ]
5 [Filtre Holder D80x5 105.010.FK0.065.001 5235 ]
6 Holder Support D46x30 105.010.FK0.065.003 | 5235 ]
/ [Threaded Rod M8 x 250mm 109.080.250.088.CO0]1 8,8 ]
8 [Filter FK.65.1 FK.65.1 ]
9 |Plastic Washer M8 109.080.000.000.P03 ]
10 Metal Washer M8 109.080.000.000.P02 ]
11 [Lock Nut M8 109.080.000.000.SF1 ]
12 Bottom Flange D149x95x13,5 107.045.0SC.102.004| P355GH+N | 1
13 Top Flange D149x13 107.045.0SC.102.003| P355GH+N | 1
14 |Gasket KLINGERIT 108.104.095.000.K01 | GP-150 ]
GENERAL NOTES
\) —I\/}()J/i.”g\l/l\/oc;/é(l]ebloe operg’ring pressure (P?) qcc_ordir;g to the Tempoero’rur? range;
perating tfemperature : min. -20C° / max. +130C° PS1 =45 Bar
' 2)Allowable operating temperature : min. -20C° / max. -40C°  PS2 = 33 Bar
-Unless o’rherwise spec!f!ed dimensions in MM
:82:22 gmzmi: zg:g:;:zg Tdu%QOrin’SLee clean&free form burrs inside&outside&suitable for soldering
-Unless otherwise specified do not scale indicated thickness are min. after forming or machining
-Unless otherwise specified dimension tolerances according to EN 113445-4
REVISIONS
No Details Of Change Date By
0]
02
03
No Connection Model Code Material | Qty RELATED DRAWINGS
15 Washer M8 109.080.000.000.R01 8 |No Description Drawing No
16 Bolt M8x30 109.080.030.088.CO01 8.8 8 |0l
17 Shell @102x3 H:503,50 [204.0SC.60B.028.001| goont, | 1
18 |Cover @102x3 101.045.102.001.000 | fians |1 I S 9001 c € U K P——
19 Base Plate @135 1:5 105.005.135.001.001 | 5235 1 2015 PED —R\Y
No  Assembly Codes | Qty 20 [Skirt D76x3 H:16 104.045.130.135.076| szs | 1 (CERTIFIED]( 2014/68/€u C n
1 | MO005000366 | | 21 Label Plate 120x80x2 105.006.002.120.080 | DD-13 | 1 |Reproauetion use or cisclosure fo third parties without express authorty is sicty forbidden




	SLA.33b.92.32.F4
	Teknik Resim Görünümü1
	Teknik Resim Görünümü2
	Teknik Resim Görünümü3
	Teknik Resim Görünümü4
	Teknik Resim Görünümü5
	Detay Görünümü N (2 : 1.3)
	Detay Görünümü O (2 : 1.3)


